F24ESCERO—ILILAUT VTR FEKE BEERE

2018/10/17(7K)
28 B (I7viar - WERER) B RTILERERE
B SR AE FEEFAX
ARBUE K& SC%& 5% HRFEE iEH R BYA4X | #t(cm)

1|18 FE EETSR LI gL 3494 A SR 18R 9= 235
AN IXRART4 O—JLNn—1 7404 B — — 9= 23.5
3ith mF A—03F—ILa# ITA— I\ F— 18404 B £EH 108 9= 24.5
4|=1F fEF =HiavEL T I—Y 6nF—ERFE FILER ¥ Savd 4454 B — — 9= 23.5
5|FH %8 HENSEF1—XE—)L OUR 5444 B JKEER 138 9= 23.5
6|t IEFD ILOT TA—T— B5FX0F 124E04 B JKEEB 158 9= 24.5
A EEDS] YASSTLETF L-FokLybk JOVEFARAR—YHIT 5464 B — — 9= 235
R ESEGES 2a—REE FY)=2V =D R Y5 4464 B KEEH 110 9= 23.5
9|5+ HIK Y -RESH F—ARE1—TwhHFoRTIOAY— JUSFP LAY 3F44 A AEHR 140 9B 24.5
1022 BE TIOVVIRE 74x 4444 B HEEH 130 9= 23.5
MER IJLI4=& YTR 2544 B JKIEH 118 9= 235
12ME & BAIES T4 BEA 817 E £EH 188 95 24.5
13| FIE BEX IWOTF 4A—L = 1454 B THEH 140 9= 23.5
14| SHR £5 Y -RESH 22—X YIzA4Fy0—X 64E54 A +ER 190 9= 23.5
15|H Tk JLI4== FARZ—ANT 3FE14 B KREEBR 170 9= 245
1657 BARE {FIFE—IL 1zvh JIvh 3464 B JKEEH 18/ 9= 235
17[48@ B NILI7EE JAE/NA)L 1404 B — — 9= 23.5
18[H E #X IXRKRIT4 VTR 14404 B — — 9= 24.5
19/NE FRE YASSTLET L-TIkLybk O—kL7EY 204E74 B *HEH 198 9= 235
20|57 BHF =HTILLYNI—OKIRER ¥/, R)70 134E64 — — 9= 23.5
21|fh AEF FEREFHRFHIE RET4A H)vT 4544 B KEH 140 9= 24.5
22| lu0O 1% ZHTORLYM—=H T UETHE 1FA(FTyE7a0—X F79kLyk 54E04 A — — 9= 23.5
23| FIE B 1A E—)LRIERE FA4ARA—k INYSTY 0% 44 B — 180 9= 23.5
24|01 ¥ BAEIA—H DaTl)—YYS 1434 B *HEH 18 9= 24.5
25| KAH{Z b HRE—IL BATF 24E94 B £EH 178 9= 23.5
26Kk A 7 FUEH 24104 H *HEH 198% = 235
27|48 F=E 1FE—IILKH —aF7 Kk 54E04 B — — 9= 24.5
28|58 &= ROPE T4RA—kN\Y T 71504 A — — = 235
29|18F BER {F[FE—IL LT4 S99 LA 10404 B JKEH 118 9= 23.5
|EA FiER X—ZKER/T ot T 12107 B JKEH 180 9= 24.5
31|78k BR ME=ZAILITL-TIrLyb Sxv—F I RAUF—FK 4464 B AR 1485 9= 23.5
FATA=EET PIUEETS LAo 84E54 A £EH 180 9= 23.5
33|HEHY P H IFXRKRIT4 T—I\ )Y —F 4404 B — — 9= 24.5
34|+ oA EHAORYIR H)—=2i8—D R REYD 2444 B AR 180 9= 23.5
B|FE HED FMILSA S—FTR 3444 A XFEH 1185 95 23.5
36|:KZE EEx N—EXTSHIk Y—_—XL7 14£104 B JKEEH 19/ = 24.5
RETE = AFVE—IVIERRN—T4— SAbF> 1343~ 8 +IEH 178 9= 235
38|&=H ME 174 E—JLKH 00—\ )LT—%5 5474 A AR 1185 95 23.5
39| Eih FEelF N—EXTSHIk TISVIR 2444 B TIER 148 9= 24.5
40(LUH #F BEINTAF SAbF> 4404 B JKEEH 118 = 235
A[IER # HRADF1—XE—)L LEE7I/ILRUA 174654 B AIER 1185 9= 235
2(0F (54 BAIF/ =9 AFATYEFTA—X F) =2 L—RIWYSHI 05 2%E94 B — — 9= 24.5
3|RE HE ZHTORLYNN—OHEET ETT S abyy 4%E64 B — — 9= 235
WUBE HFE RE=%FH FyHyrAR 4544 B £EH 198% 9= 23.5
45[;thE # X—ZERT 5351 =LA LT5H 54X 9464 A — — 9= 24.5
46|t BE INTg FFF-IL/F1—)L 3% 24 B — — 9= 23.5
A7|FK #HBEF SR ETA—/N F—E—I7 104504~ B +IEH 188 9= 235
48[ B v BE/INTAF |HNE S 64E44 B — — 9= 24.5
49| FF4k FE FEYDAHPX1—XE—)LR—R P N=1rY P 4%E34 B TR 158 95 235




